1/20 is 5% because half of 10% is 5% and half of 1/10 is 1/20 and 5*20=100.  7/20 = 35%.
____________________
	1. The horse's original weight was 400 kg. The horse gained 5% of their weight. How many kg did the horse gain?

	2. Change to a percent: 3/20
	3. Find 5% of 8000
	4. Find 35% of 8000

	5. The company has 95% of cars insured. If the company has 80 cars, how many cars are insured?

	6. The bill at the Red Ox restaurant is $50. If you want to tip 15%, what is the correct tip?

	7. The bill at the Pizza Shack was $36.20. If you want to tip 15%, what is the correct tip?

	8. If 6 students out of 40 students earned a medal, what percent earned a medal?

	9. From 2008 to 2009 there was a 40% increase in the number of subscribers to the website. In 2009 there were 728 subscribers. Find the amount in 2008.

	10. A shirt is on sale for $23.40. This is 35% off the regular price. What is the regular price?

	11. The cell phone company uses a markup (percent increase) of 80%. If the retail price (charged to customers) of a phone is$108, what was the original cost (to the retailer) of the phone?

	12. The pay raise from last year to this year is 2.5%. This year the monthly pay is $1998.75. What was the monthly pay last year?
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